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Research Methodology

Section Id : 549470299
Section Number : 1
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Number of Questions : 59

Section Marks : 70

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 54947021237 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary stage of promoting the learning in a child is

Options :
Imitation
1. ¢
Instinct
Motivation
3 %
Conditioning
4, %

Question Number : 2 Question Id : 54947021238 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

A good teacher is one who

Options :
gives useful information
1. ®
gives notes to students
2. %
explains concepts and principles
3. %
inspires students to learn
4. ¢

Question Number : 3 Question Id : 54947021239 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The highest contribution of the sensory organ in effective learning belongs to

Options :

sense of touch

sense of hearing



sense of taste

sense of seeing
4. &

Question Number : 4 Question Id : 54947021240 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The classroom communication should essentially be

Options :
Abstract
1 ®
Empathetic
2.4
Non-descriptive
3. %
Contrived
4. %

Question Number : 5 Question Id : 54947021241 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is the highest level of cognitive ability?

Options :

Knowing
1. ®

Understanding
2. %

Analyzing
3. %

Evaluating

4. v

Question Number : 6 Question Id : 54947021242 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is NOT a component of effective teaching.

Options :

Questioning to check for the understanding of students

Providing students with feedback
2. %



Being flexible about how long it takes to learn

Reactive mode of students” behavior
4.«

Question Number : 7 Question Id : 54947021243 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

SWAYAM refers to :

Options :
Study World of Action-Learning for Young Aspiring Minds
1. ®
Study Webs of Active-Learning for Young Aspiring Minds
2.¢
. Student World of Action-Learning for Young Ailing Minds
3.
Study Webs of Active-Learning for Youth Awareness Models
4.%

Question Number : 8 Question Id : 54947021244 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is the main purpose of using ICT for class room teaching is
fo

Options :

Keep students engaged in the class

1%
Divert student’s attention in the class
2. %
Optimize learning outcomes of teaching
3.¢
Make the classroom instructions are interesting
4. %

Question Number : 9 Question Id : 54947021245 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

GUI stands for

Options :

Graphical User Interference

Graphical User Interface
2.



Graphical User Identifier

Gaming User Identifier

Question Number : 10 Question Id : 54947021246 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following be the true evaluation of the students if possible?

Options :

Formative
1. %

Evaluation at the end of the course
2. %

Evaluation twice in a year
3 %

Continuous evaluation

4.

Question Number : 11 Question Id : 54947021247 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Teaching in Higher education implies

Options :
Presenting the information given in the text book
1 ®
Asking questions in the class and conducting examinations
2. %
Helping students to prepare and pass the examinations
3. %

Helping students to learn
4. ¢

Question Number : 12 Question Id : 54947021248 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary task of a teacher is
Options :

To teach the prescribed curriculum

To stimulate and guide students learning
2. ¥



To provide diagnostic and remedial is aid wherever desired

To promote habits of conformity to adult demands and expectations

Question Number : 13 Question Id : 54947021249 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One of the aims of scientific method in research 1s to

Options :

Improve data interpretation
1 ®

Eliminate spurious relations
2.¢

Introduce new variable
3. %

Conform triangulation
4. %

Question Number : 14 Question Id : 54947021250 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is NOT a characteristic of research?

Options :

Research is symmetric
1 ®

Research is not a process

2.¢

Research is not passive
3. %

Research is problem oriented
4. %
Is Section Default? : null

Question Id : 54947021251 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (15 to 21)



Read the following passage carefully and answer the questions from 15 to 21:

Intelligence is associated with academic achievement by most people. The various
theories of intelligence created by psychologists hold that there are two kinds of academic
intelligence-verbal and mathematical or logical. Intelligence is an inherited trait that impacts
individual behavior and performance according to most experts. But, many research studies have
revealed that the environment greatly impacts the development of intelligence. Since. one
property of intelligence i1s analytical and reasoning skills. people with high intelligence quotient
will understand the problem at hand better than people with a low IQ. Many organizations
consider intelligence as an important criterion while recruiting. For instance in many
management schools, a lot of weightage is given to high IQ while admitting students or
recruiting faculty members. The qualities of intelligent people are high energy drive.
achievement and competitiveness. Very intelligent employees learn job — related skills and other
organizational practices quickly and organizations have to spend less time training them. People
with high imtelligence have good decision making ability due to their good analytical and
reasoning skills. With a high achievement drive, they are mostly very productive. As the saying
goes, ‘A wise enemy is better than a foolish’ friend:

Even with such a high IQ, very intelligent people may not always be very happy. The
high IQ makes them dysfunctional leading to anxiety and depression. Generally speaking, people
with high intelligence quotient are often dissatisfied people.

Sub questions

Question Number : 15 Question Id : 54947021252 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the two kinds of academic intelligence defined by psychologists?

Options :

Mathematical and logical
1 ®

Logical and psychological
2. %

Verbal and logical
3.¢

Mathematical and social
4. %

Question Number : 16 Question Id : 54947021253 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the possible ill effects associated with high IQ people?
Options :

Mania and hallucination

Depression and hallucination



Bipolar disease

Anxiety and depression

Question Number : 17 Question Id : 54947021254 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When a student stands first in the class, the general credit is given to:

Options :

Contacts
1. %

Intelligence
2.9

Hard work
3 %

Attractive features

4, %

Question Number : 18 Question Id : 54947021255 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Dissatisfaction is often witnessed in people with

Options :

Creative skills
1, *

High expectations
2. %

Good decision—making ability
3.¢¥

High education qualifications
4, %

Question Number : 19 Question Id : 54947021256 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

High energy drive, achievements and competitiveness are valued during

Options :

Admission
1. %

Recruitment
2. %

Promotion



Admission and recruitment

Question Number : 20 Question Id : 54947021257 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Those who understand a problem in a short span of time will be people with

Options :
High IQ
1. ¢
- Low IQ
Average IQ
3%
Good IQ
4. %

Question Number : 21 Question Id : 54947021258 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Another word for “Weightage’ is

Options :



Credit

1. ¥

Mass
2. %

Weight
3. #

Freedom

4. %
Is Section Default? : null

Question Number : 22 Question Id : 54947021259 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Synopsis of a research is

Options :

Summary of research

Blueprint of a research
2.¥

Extract of research



A plan of research
4.%

Question Number : 23 Question Id : 54947021260 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following objectives is not associated with teaching aids?

Options :
To present difficult concepts in simpler manner for students
1. ®
To make the students comparatively more active and dynamic
2. %
To make advertisements of attractive and miraculous events to students
3.
To determine the audio-visual aids by keeping mind individual differences in
the class
4. %

Question Number : 24 Question Id : 54947021261 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The first step of research is

Options :

selecting a problem
1. ®

searching a problem
2. %

finding a problem
3.

identifying a problem

4. %

Question Number : 25 Question Id : 54947021262 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these is not a method of data collection?
Options :

Interviews

Observations



Questionaries

Experiments
4.9

Question Number : 26 Question Id : 54947021263 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A researcher conducted three experiments with 100 subjects each following uniform
design instead of one experiment with 300 subjects. This is known as

Options :

Validation
1.¢

Manipulation
2. %

Observation
3. %

Replication
4, %

Question Number : 27 Question Id : 54947021264 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The conceptual framework in which a research is conducted is called a

Options :

Synopsis of research
1. %

Research design
2.¢

Research hypothesis
3. %

Research Paradigm
4.%

Question Number : 28 Question Id : 54947021265 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is an identification of the quality of a research journal?
Options :

Impact Factor
1.v

h — index



g — index

110 — index

Question Number : 29 Question Id : 54947021266 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ethics in research 1s not related to

Options :
Scientific method
], %
Reliability
2. %
Self-interest
3.
Humanity
4. %

Question Number : 30 Question Id : 54947021267 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The objective of a research work can be written .

Options :
only in question form
1. %
only in statement form
2.¢
both question and standard form
3. %
in hypothetical form
4. %

Question Number : 31 Question Id : 54947021268 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Complete the series: 3C4. 7G5, 1216, 18R7, 25Y8,

Options :

32F9

3G9

Lad



32G9

Lad
Lad
o)
-1

Question Number : 32 Question Id : 54947021269 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a certain code language, if CHECK = 30 and TIME = 47 then what is the code for
HOCKEY?

Options :

52
1. %

67
2.9

48
3. %

12
4, ®

Question Number : 33 Question Id : 54947021270 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The ratio of the present ages of A and B is 5:6. Fifteen years ago. the ratio of their ages
was 7:9. Find the present age of A.

Options :

10
1. %

30
2. %

50

3.¢

65
4, #®

Question Number : 34 Question Id : 54947021271 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A shopkeeper losses 15% if an article is sold for Rs.102. What should be the selling
price of the article to gain 20%?
Options :

150

1. ®



144

2.9

138
3. %

132
4. %

Question Number : 35 Question Id : 54947021272 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a class, the average age of the students is 21 years. If their class teacher, aged 45
vears is also included, the average of the class would be 22 years. Find the number of
students in the class.

Options :
20
1. ®
23
2. ¢
24



-2
Lh

Question Number : 36 Question Id : 54947021273 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What sum of money amounts to 5800 in three years at 15% per annum with simple
interest?

Options :

3800
1. %

4000
2.9

4200
3. %

4600
4, %

Question Number : 37 Question Id : 54947021274 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Starting from his house, Krishna travels a distance of 8m towards North, he then turns
left and travels a distance of 6m, then travels 5m South and finally he travels 6m
towards the West to reach his office. What 1s the approximate distance between his
house and the office?

Options :
14m
1. %
12m
2. %
12.5m
3. ¢
14.5m
4, %

Question Number : 38 Question Id : 54947021275 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A person can cover a certain distance in 8 hours at a speed of 50 kmph. At what speed
he must travel to cover the distance in 5 hours?

Options :



400 kmph

1. %

80 kmph
2. ¥

100 kmph
3. %

300 kmph
4.%

Question Number : 39 Question Id : 54947021276 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following groups of fraction are in ascending order?

Options :
8 57
% 11 8§ 10
7 5 8
108711



3.¢
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Question Number : 40 Question Id : 54947021277 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements are mutually inconsistent?
Mostly poets are not egoistic

L
I1. Mostly poets are humble
I11. Some poets are egoistic
IV. Some poets are not non-egoistic
Options :
ILand IV
1. *
IT and 11T
2. %
I and IIT

3.¢



III and IV

Question Number : 41 Question Id : 54947021278 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Some teachers are not sincere” is an example for which category of proposition?

Options :

Particular affirmative

Particular negative

2.

Universal affirmative
3 %

Universal negative
4, %

Question Number : 42 Question Id : 54947021279 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Given below are two statements — one is labelled as Assertion (A) and the other is
labelled as Reason (R)

Assertion (A): Skill development is a key feature in every individual’s life.

Reason (R): An individual. who wants to get employed. needs to possess good
education only.

In this context of above two statements choose the correct option codes:

Options :

(A) 1s true, but (R) is false

1.
(A) 1s false. but (R) is true
2. %
Both (A) and (R) are true and (R) is the correct explanation of (A)
3. %
Both (A) and (R) are true and (R) is not the correct explanation of (A)
4, %
Is Section Default? : null

Question Id : 54947021280 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (43 to 45)



Note:
From the data furnished in the following table, answer the questions 43-45. Area under
different crops over the years 2016-20 is in lakh hectares.

Year Mango Vegetables Flowers Total crop area
2016 53 72 1 187
2017 56 75 1 194
2018 58 78 2 202
2019 61 79 2 207
2020 63 79 2 209

Sub questions

Question Number : 43 Question Id : 54947021281 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following two years have registered the highest rate increase in total crop
area?

Options :

2017 and 2018

2016 and 2017



2017 and 2019

2018 and 2019

Question Number : 44 Question Id : 54947021282 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following has recorded the highest rate of increase in crop area during
2016 to 20207

Options :

Mango

Vegetables

2. %

Flowers
3. %

None of these
4, %

Question Number : 45 Question Id : 54947021283 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In which year, area under mango has recorded the highest rate of growth?

Options :
2019
1. #
2017
2.9
2016
3. %
2018
4. ®
Is Section Default? : null

Question Id : 54947021284 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 49)



Note:

Study the following pie chart carefully and answer the questions 46-49. It gives data on
number of students having specializations in different study branches.

Marketing
22%n

Sub questions

Question Number : 46 Question Id : 54947021285 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the total number of students having specialization in HR. Marketing and IT?

Options :

4640



4080

2. %

4400
3.¢

4260
4, %

Question Number : 47 Question Id : 54947021286 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the total number of students having IB as specialization?

Options :

1520
1.v

1280
2. %

1120
3. %

1360



Question Number : 48 Question Id : 54947021287 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the ratio of the students having Finance as specialization to students having HR
as specialization?

Options :

11:9
1. %

4.7
2. %

18:13
3. %

6:7
4. &

Question Number : 49 Question Id : 54947021288 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Students having IR as specialization forms approximately what percent of students
having HR specialization?

Options :

114
1. ¢



106

2. ®
76
3. %
87
4, %
Is Section Default? : null

Question Number : 50 Question Id : 54947021289 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the statement “most of the students are obedient’ 1s taken to be true, which one of the
following pair of statements can be claimed to be true?

A) All obedient persons are students

B) All students are obedient

C) Some students are obedient

D) Some students are not disobedient
Choose the correct codes from the options given below:

Options :

Aand B



B and C

2. %

Cand D
3.¢

Band D
4, %

Question Number : 51 Question Id : 54947021290 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Given below are two statements I and II followed by two conclusions (A) and (B).
Suppose if the statements are true, which of the following conclusions can logically
follow?
Statements:

I: Some flowers are red

II: Some flowers are blue
Conclusions:

A: Some flowers are neither red nor blue

B: Some flowers are both red and blue

Options :

only (A) follows



only (B) follows

2. %

both (A) and (B) follows
3. %

Neither (A) nor (B) follows
4.

Question Number : 52 Question Id : 54947021291 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

At selling price of Rs 240, a person incurred a loss of 10%. To earn a profit of 10%,
what should be the selling price?

Options :
Rs 310
1. %
Rs 300
2. ®
Rs 285.50



Rs 293 .33
4.

Question Number : 53 Question Id : 54947021292 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Every woman is white and ‘not every woman is white’ comes under which domain
source of opposition

Options :

Contradictory
1.¢

Contrary
2. %

Sub-contrary
3. %

Sub alternation
4. %

Question Number : 54 Question Id : 54947021293 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mercury and leads are poisonous substances that contribute to




Options :

Noise exposure

1. %
Poor air quality
2. %
Water contamination
3. %
Skill pollution
4.

Question Number : 55 Question Id : 54947021294 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the binary equivalent of decimal number 48 is 110000, then the binary equivalent of
decimal number 51 is given by

Options :

110010

11011



110001

110100

Question Number : 56 Question Id : 54947021295 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following represents one billion characters?

Options :

Kilobyte
1. ®

Megabyte
2. %

Gigabyte
3.¢

Terabyte
4. %

Question Number : 57 Question Id : 54947021296 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Python is :

Options :
an operating system
1. ®
an application program
2. %
a compiler
3. %
a programming language
4.9

Question Number : 58 Question Id : 54947021297 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A description in conununication process is called

Options :

Interaction

Noise
2. %



Transgression

Feedback

Question Number : 59 Question Id : 54947021298 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is an example of asynchronous medium?

Options :
Radio
1. ®
Film
2.8
Newspaper
3.9
Television
4. %

Question Number : 60 Question Id : 54947021299 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following are priority areas in relation to the sustainable development
goals?

A) No poverty

B) Zero hunger

C) Reducing Urbanization

D) Peace, Justice and Strong institutions

Choose the correct answer from the options given below:

Options :

A, B,C
1. ®

AL D
2. ®

B, C.D
3. %

A, B. D
4.

Question Number : 61 Question Id : 54947021300 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the largest soil group in India?



Options :

Red soil
1. %
Black soil
2. %
Sandy soil
3.
Mountain soil
4, %

Question Number : 62 Question Id : 54947021301 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a waterborne disease?
Options :

Typhoid

Hepatitis



Cholera

Dengue
4.

Question Number : 63 Question Id : 54947021302 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name the clinical trial in which blood is transferred from recovered COVID-19 patients
to Corona virus patients who is in critical condition.

Options :
Hydroxychloroquine
1 ®
Soidarity
2. %
Remdesivir
3. %
Plasma therapy
4.9

Question Number : 64 Question Id : 54947021303 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first case of noval coronavirus was identified in

Options :

Beijing
1. *

Wuhan
2.¢

Tianjin
3. %

Shanghai
4.%

Question Number : 65 Question Id : 54947021304 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following sources of energy has maximum potential in India?
Options :

Solar energy
1. ¢



Wind energy

2. %

Tidal energy
3. %

Ocean thermal energy
4. %

Question Number : 66 Question Id : 54947021305 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is regarded as an immediate need of an educational
organization?

Options :

To ensure self-employment capabilities in the students
1.¢

To enrich the knowledge of future generation
2. %

To focus on Employment opportunities



To make provision of maximum service opportunities

Question Number : 67 Question Id : 54947021306 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The scheme “Unnat Bharat Abhiyan™ aims to

Options :
Increase number of colleges in India
1. %
Increase quality in Higher education
2. %
Link higher educational institutions in the country with at least five villages
3.
Increase strength of students in colleges in India
4.%

Question Number : 68 Question Id : 54947021307 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which one of the following are the goals of Higher education in India?
A) Access

B) Equity

C) Quality and Excellence

D) Relevance

E) Value based education

F) Compulsory and free education

Select the correct answer from the code given below:

Options :

A B EandF

ABC DandFE

2.9

ABCDEandF
3, %

A BandE
4, %

Question Number : 69 Question Id : 54947021308 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following 1s NOT a constitutional body?

Options :
NITI Aayog
1. v
Election comimission
2. %
Finance commission
3 %
Union Public Service Commission
4. %

Question Number : 70 Question Id : 54947021309 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is ABC as per NEP-2020?
Options :

Academic Bank of Credit
1. ¢



Academic Basic Certificate

2. %

Annual Basic Certificate
3. %

Annual Bank of Credit
4, #

Education
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Maximum Instruction Time : 0
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Question Number : 71 Question Id : 54947021310 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following philosophies believes in “lecture, discussion and
imitation’?

Options :

Idealism
1. ¥



Realism

2. %

Naturalism
3. %

Pragmatism
4. %

Question Number : 72 Question Id : 54947021311 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Problem-solving” is encouraged by
Options :

Pragmatists
1. ¢

Idealists

Naturalists

Realists

Question Number : 73 Question Id : 54947021312 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Chairman of the Indian Education Commission (1964-66) 1s
Options :
Dr. L.S. Mudaliar

1. ®

Dr. D. S. Kothari
2.

Dr. S. Radhakrishnan

Justice J.S. Verma

Question Number : 74 Question Id : 54947021313 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following guides actions towards those that are most likely to achieve
the desired outcomes

Options :

Rule

Law
2. %



Intention

Policy
4. &

Question Number : 75 Question Id : 54947021314 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Communication theory approach in politics has been evolved by
Options :

David Etson

1. %

Kirkpatrick

2. %

Robert Weiner
3.9

Gabriel Almond

Question Number : 76 Question Id : 54947021315 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The IQ of an individual can be calculated using the formula



Options :

Mental Age x 100
Chronological Age

1.
Chronological Age x 100
Mental Age
2. %
Mental Age
. 100 x Chronological Age
Chronological Age
100 x Mental Age
4. %

Question Number : 77 Question Id : 54947021316 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The full form of ‘REBT’ 1s

Options :

Roger’s Emotional Behavior Treatment

Roger’s Educational Behavior Technique



Rational Emotive Behavior Therapy
3.

Rational Emotive Behavior Treatment
4, %

Question Number : 78 Question Id : 54947021317 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Teacher Education comprises of
Options :
Teaching skills + Pedagogical theory + Professional skills

1. ¢

Teaching skills + Professional skills + Administrative skills

2. %

Teaching skills + Administrative skills + Leadership skills
3. %

Teaching skills + Professional skills + Leadership skills
4. %

Question Number : 79 Question Id : 54947021318 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Teaching is a profession because
Options :
it follows the rules and regulations of the Government

1. ®

it has a common code of ethics
2.

it has different categories of teachers
3. %

it has the rare privilege of teaching students
4.%

Question Number : 80 Question Id : 54947021319 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Development of curriculum and syllabii in Teacher Education’ is the
responsibility of
Options :
AICTE

1. #

NCFTE

2. ®



NCTE
3.¢

NUEPA

Question Number : 81 Question Id : 54947021320 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A model of curriculum in which content is divided into separate subjects is known
as

Options :

Subject-based curriculum
1. ®

Discipline-based curriculum
2.¢

Content-based curriculum

Competency-based curriculum

Question Number : 82 Question Id : 54947021321 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The curriculum that involves all the stakeholders i1s known as
Options :
Participatory
1. v

Developmental
2. %

Representative
3. %

Supportive
4.%

Question Number : 83 Question Id : 54947021322 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a research study on the relationship between mosquitoes and mosquito bites, the
number of mosquitoes per acre of ground would be

Options :
an independent variable

1.¢

an intervening variable



a dependent variable

an extraneous variable

Question Number : 84 Question Id : 54947021323 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The method that allows the researcher gain a deeper understanding of a group’s
shared culture, conventions and social dynamics

Options :
Ethnography
1. ¢

Triangulation
2. %

Induction

Historical method

Question Number : 85 Question Id : 54947021324 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



‘The assessment done at the beginning of the school vear to assess the students’
strengths and weaknesses prior to instruction’ is called

Options :

Summative Assessment

Formative Assessment

Diagnostic Assessment

Placement Assessment

Question Number : 86 Question Id : 54947021325 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following 1s best suited for assessment of social skills?

Options :

Rating Scale
1. ®

Checklist

2. ®



Rubrics
3.¢

Interview schedule

Question Number : 87 Question Id : 54947021326 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A diverse set of technological tools and resources used to transmit, store, create,
share or exchange information can be understood as

Options :

Information Technology

1. %
Communication Technology
2. %
Information and Communication Technology
3.
Software Communication Technology
4. %

Question Number : 88 Question Id : 54947021327 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The full form of CBT is

Options :

Computer Based Training
1. %

Cognitive Behavioral Therapy
2.¢

Computerized Basic Theory
3. %

Cognitive Based Training
4, %

Question Number : 89 Question Id : 54947021328 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Decision making is influenced by the force of public opinion and Government
policies n
Options :
Educational Administration

1. v

Educational Management
2. %



School Administration

School Management

Question Number : 90 Question Id : 54947021329 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘For a leader to be effective. his/her leadership style must fit the situation’ is the
essence of

Options :
Tri-dimensional model

1. %

Blake and Mouton’s Managerial Grid
2. %

Fiedler’s Contingency model
3.¢

Hersey and Blanchard’s model
4.%

Question Number : 91 Question Id : 54947021330 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



A systematic approach that deals with the transition or transformation of an
organization’s goals, processes or technologies is known as

Options :

Change Management

Change in Quality Management

2. %

Change m Quality Control
3. %

Change m Quality Assurance
4.%

Question Number : 92 Question Id : 54947021331 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“The appropriate Government shall ensure that the Persons with disabilities enjoy
the right to equality. life with dignity, and respect for his or her own integrity
equally with others™ is an important recommendation of
Options :
PWD Act, 1995

1. ®

RPWD Act, 2016
2.¢



RCI Act; 1992

NPD Act, 2006
4. %

Question Number : 93 Question Id : 54947021332 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“The beliefs and attitudes that teachers may have about educational services for
students with disabilities’ are known as

Options :

Assistive bairiers
1. %

Adaptive barriers

Attitudinal barriers
3. ¢

Educational barriers

Question Number : 94 Question Id : 54947021333 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which one of the following philosophies believes in ‘observation and
experimentation?

Options :

Existentialism

Pragmatism

[dealism

Realism
4, &

Question Number : 95 Question Id : 54947021334 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Material goods and services are produced and distributed by
Options :

. Religious institutions
1.

Economic mstitutions
2.%

Educational mstitutions
3 %



Political mstitutions

Question Number : 96 Question Id : 54947021335 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Committee that recommended the formation of National Council for Higher
Education and Research (NCHER) in place of the existing regulating bodies such
as UGC, NCTE, AICTE, BCI, MCT and others

Options :

Justice Verma Comimittee

Yashpal Comunittee
2.¢

) Dr. Radhakrishnan Committee
3.

Higher Education Reforms Committee
4.%

Question Number : 97 Question Id : 54947021336 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



“The organizational process by which revenues are generated. distributed and
expended for the operational support of formal schooling’ can be termed as

Options :
Financial support

1. ®

Educational finance
2.%

Educational support
3. %

Budgeting
4. %

Question Number : 98 Question Id : 54947021337 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who believed that “Human mind is a three tier system consisting of Id, Ego and
Super Ego’™?

Options :

Sigmund Freud
1. v

Jean Piaget
2. %



Carl Rogers

Gordon Allport
4. %

Question Number : 99 Question Id : 54947021338 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Multiple intelligence theory was proposed by

Options :

Gordon Allport

1. %

Carl Rogers
2. %

Howard Gardner
3.«

B.F.Skinner

Question Number : 100 Question Id : 54947021339 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The theory of Classical conditioning is associated with

Options :

Skinner
1. %

Piaget

Pavlov

<

3. %

Allport

4. %

Question Number : 101 Question Id : 54947021340 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Teacher Education is based on the theory that
Options :

Teachers are made: but not borm.
1.

Teachers are born: but not made

Teachers are either made or born



Teachers are neither made nor bomn

Question Number : 102 Question Id : 54947021341 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘RMSA’ stands for
Options :
Rashtriya Madhyamik Shiksha Abhiyan
1. ¢

Regional Middle Shiksha Abhiyan

2. %

Regional Middle School Administration
3. %

Rashtriya Madhyamik School Abhiyan
4. %

Question Number : 103 Question Id : 54947021342 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“The existing system of teacher education needs to be overhauled or revamped™ is
the suggestion made by

Options :



. National Policy on Education. 1986.
1.

National Education Policy-2020
2. %

National Curriculum Framework for Teacher Education. 2009
3 %

National Curriculum Framework, 2005,

Question Number : 104 Question Id : 54947021343 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“The concept of curriculum that is based on learner’s unique talents and abilities
rather than focusing on examination performance’ is called

Options :

Academic-based curriculum
] ®

Discipline-based curriculum

Concept-based curriculum
3. %



Competency-based curriculum
4. &

Question Number : 105 Question Id : 54947021344 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Stakes” Model of Curriculum Evaluation was developed by Robert E. Stake
in the year

Options :

1969

1967
2.¢

1959

1957

Question Number : 106 Question Id : 54947021345 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When the curriculum designed for a particular course of study is put into practice,
it 1s called

Options :



Curriculum design

Curriculum evaluation

Curriculum implementation

Curriculum mnovation

Question Number : 107 Question Id : 54947021346 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ‘consistency’ of a measure or test scores is known as

Options :
Validity

Objectivity
2. %

Reliability
3. ¢



Scorability

Question Number : 108 Question Id : 54947021347 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The practice of using multiple approaches to analyze data with a view to
increase the credibility of research 1s called

Options :

Explanatory design
1. %

Exploratory design
2. %

Ethnography
3. %

Triangulation

Question Number : 109 Question Id : 54947021348 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“The assessment of student performance done during the instruction’ is known as

Options :



Summative Assessment

1. %
Formative Assessment
2. ¢
Diagnostic Assessment
3. %
Placement Assessiment
4. %

Question Number : 110 Question Id : 54947021349 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Flanders Interaction Analysis Categories. which one of the following is not
related to Indirect Teacher Talk (ITT)?

Options :

Acceptance of feelings
1. %

Using student ideas in his/her talk by the teacher

Giving directions
3. ¢

Praising or encouraging
4.%



Question Number : 111 Question Id : 54947021350 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The full form of ‘MIS’ is
Options :

Management Information System

1.¢
Modular Information System
2. %
Management Infrastructure System
3. %
Manual Information System
4.%

Question Number : 112 Question Id : 54947021351 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The mstructional model that teachers can use to develop lesson plans integrating the
use of technology is

Options :

ASSURE model
1.+



ADDIE model

2. %

DICK AND CAREY model
3, %

GAGNE’S model
4, %

Question Number : 113 Question Id : 54947021352 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A free online collection of documents (often scholarly) is known as a

Options :

Museum
Repository
2. %

Book bank

Library

Question Number : 114 Question Id : 54947021353 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following theories emphasises on the employee’s enthusiasm.
morale and contentment rather than just productivity alone?
Options :

The Classical theory
1 ®

The Structural theory
2. %

Socio-Technical Systems approach

Human Relations Approach
4.

Question Number : 115 Question Id : 54947021354 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is a systematic programme that indicates everyone and
everything in the organization is involved i the enterprise of continuous
improvement?

Options :

Quality Assurance
1. %



Quality Management

2. %

Total Quality Management
3. ¢

Total Quality Assurance
4.%

Question Number : 116 Question Id : 54947021355 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Children and students of all abilities from racially. ethnically. culturally and
linguistically diverse backgrounds are called

Options :

Diverse Learners

1. ¢

Diverse Disabled Learners
2.

Disabled Learners
3 %

Learners with special needs



Question Number : 117 Question Id : 54947021356 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘The devices and technology that allow people with disabilities to participate in
daily life with greater ease’ are termed as

Options :

Assistive equipment

1. ¢
Adaptive equipment
2. %
Remedial equipment
3. %
Inclusive equipment
4.%

Question Number : 118 Question Id : 54947021357 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

*‘An awareness module on inclusive education for students with disabilities” for
purpose of administration of the same to administrators and teachers of general
schools was developed by

Options :
Swarup (1998)

1. ®



Ahuja (1996)

2.

Zaveri (2001)
3.¢

Shevde (1997)
4.

Question Number : 119 Question Id : 54947021358 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One of the following errors occur if an investigator rejects a null hypothesis
that is actually true in the population.

Options :

Type | error
1.¢

Type Il error
2. %

Type lll error

Standard Error



Question Number : 120 Question Id : 54947021359 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

.The process where teachers think over their teaching practices. analysing
how something was taught and how the practice might be improved or changed for
better learning outcomes, is known as:

Options :
cooperative teaching
1. %

reflective teaching
2.¢

expository teaching

journal teaching
4.%

Question Number : 121 Question Id : 54947021360 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Four components, namely, objectives., selection of learning experiences.
organisation of learning experiences, and evaluation, are part of the model of
Options :

L% Scriven



Tyler

2.9

Kirkpatrick
3.

Stake
4, ®

Question Number : 122 Question Id : 54947021361 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“The focus on whether the economic benefits outweigh the economic costs
of a given policy™. It refers to:

Options :

cost-effective analysis
1. %

policy impact assessment
2. %

cost-benefit analysis
3.¢

process of policy

Question Number : 123 Question Id : 54947021362 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
DIETs were set up based on one of the recommendations of

Options :
SEC, 1952

NPE, 1986
2.

IEC, 1964-66
3. %

NCT, 1999
4. %

Question Number : 124 Question Id : 54947021363 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bigge and Hunt teaching Model is based on
Options :

Understanding Level

Reflective Level
2.

Memory Level
3. %



Application Level

Question Number : 125 Question Id : 54947021364 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One of the following is related to the assumption that “it i1s a standard statistical
unit used to measure and describe the distribution of any process about its mean™.
Choose the correct answer.

Options :
C.K Pralhad

Edward Deming

Quality Guru
3. %

Six sigma

Question Number : 126 Question Id : 54947021365 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following tools of collecting psychological information about pupils is
the most objective?



Options :

Standardized tests

1.¢
Interview
2.
Rating scale
3. %
Projective devices
4. %

Question Number : 127 Question Id : 54947021366 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Internal criticism is performed
Options :

To verify the accuracy of the source.
1.v¥

To verify the authenticity of the source
2. %

Both of these

None of these
4, %



Question Number : 128 Question Id : 54947021367 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following List — I with List — IT in correct order:

List — 1 List —1II

a. Classical conditioning 1. Kohler
b. Drive reduction ii. Hull

c. Sign Gestalt learning iii. Pavlov
d. Learning by insight iv. Skinner

v. Tolman

Options :

a-1v. b-i1. ¢c-v. d-1

1. %

a-iii, b-ii, c-v, d-i
2. ¢

a-1v, b-11, c-1, d-v
3, %

a-1i. b-i1..¢c-1. d-v
4, ®

Question Number : 129 Question Id : 54947021368 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Epistemology deals with the theories of

Options :
Realit
1. % !
Existence
2. %
Values
3.
Knowledge

Question Number : 130 Question Id : 54947021369 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Vedas allow us to learn
Options :

Creation is without beginning and without an end.
1.¢

Creation is without an end.
2. %

Creation is without beginning
3. %



Creation has a definite beginning and also an end.

Question Number : 131 Question Id : 54947021370 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The assumption of Tagorian Education System is that the child learns better through

Options :

Debates and Discussion
1.9

Reading. Writing and Speaking
2. %

Dance, Drama and Music

Travelling and interacting with nature.

Question Number : 132 Question Id : 54947021371 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Theory of generalization is similar to the theory of
Options :

Identical elements
1.9



Transposition

2. %
Identical and Transposition elements
3. %
Dissimilar
4. %

Question Number : 133 Question Id : 54947021372 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The child who reads numbers wrongly has the following learning disability
Options :
Dyscrasia

1. %

Dvslexia
2.4 7

Dyspepsia

3. %

Dyscalculia
4. %

Question Number : 134 Question Id : 54947021373 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A researcher is generally expected to

Options :

Study the existing literature in a field
1. %

Generate new principles and theories.
2. ¢

Synthesize the ideas given by others.
3. %

Evaluate the findings of a study
4. %

Question Number : 135 Question Id : 54947021374 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Results and findings from the one of the following studies cannot be generalized to
other situations. Choose the right one.

Options :
Historical

1. il
Descriptive

2. ®



Experimental

Causal Comparative
4. %

Question Number : 136 Question Id : 54947021375 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most important challenge for a teacher is
Options :

To maintain discipline in the classroom.

1. %

To make students do their homework.
2. %

To make teaching process enjoyable.
3.¢

To prepare the question-bank.
4. %

Question Number : 137 Question Id : 54947021376 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following set of statements i1s describes teaching as a Profession?
Select the correct code.

(a) Teaching Profession has an organised body of knowledge

(b) Teaching Profession implies a set of attitudes

(c) Duration of Teacher Training Programme is not a professional pre-requisite
(d) Teaching Profession has its own code of moral ethics

Options :

(b). (). (d)

(a). (¢). (d)

2. ®

(a). (D). (d)

3.¢

(a). (b). (¢)

4. %

Question Number : 138 Question Id : 54947021377 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following provisions is most appropriate for addressing the learning
needs of the students having disabilities/impairments?

Options :

Individualised Transition Programme (ITP)
], %



Pre-school Programmes for children

2. %

Free and Appropriate Education (FAPE)
3. %

Individualised Education Programme (IEP)
4. ¢

Question Number : 139 Question Id : 54947021378 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
One of the following combination of characteristics correctly describes the
Bureaucratic Administration. Choose the right one.
(1) Well defined rules
(1) Established hierarchy
(111) Standard operating procedures
(iv) Good interpersonal relationships
(v) Combined responsibility of completing work

Options :

(1). (11) and (1v)

(1). (1) and (v)



(11). (111) and (iv)

(i), (ii) and (iii)

4.9

Question Number : 140 Question Id : 54947021379 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In one of the following approaches to curriculum design. constructivist orientation
will appear. Choose the right one.

Options :

Job analysis of learning tasks

1. ®

Evaluation approach to curriculum design
2. %

Concept mapping as a tool for curricular choice
3.¢

Input process emphasis on curriculum



